
3. Fantasy 3 Albert de Rippe






























5 




























































10 


































































15 




























































































20 























  
          




































25 























































    


















30 



















































































35 











































 
 








1)


























40 







    




















































45 





























































50 























2)















































55 










































































60 










































   






































65 















Tabulature de Leut, v.3 (1554), f.7v. Encoded and edited by Sarge Gerbode.

2) "e" in orig.
1) "a" in orig.
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1) Note apparently a course too high. Compare bar 103.
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














































    

210 































































215 




















































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1) "e" in orig.


